
ASSignment.ba#stg
Feb 8

,
2018

ok-cente.FI#medioD
• K - Means tt

n Mixture ofGaussians (END



Homework # 1

Largest QID QZD
setting .

.

efbigt#uponeoH
min 0.45 18

mean|3og...

sqoqna
.

median 30 1100

Max 15,000 80,000
~ 4 hours ~ 22 hours

(seconds)



He,
.

x.nl#
• X C Rd = { x. g. . .

xn }
c.

Ex
'

. distance

dilRdxlRdrs1RT@FBi.te_ita.st.rsd-ex.i.xn-llx.xOutputs.CenterstGE9.ca

..Gz3aR°
Mapping ¢ :Rd → (

• IsformulationOf#arg min 11 × .

cell
Cost .

G. e) =×§×dGde×D eoec

nEdYTIIgt#nddYo|!¥÷Im¥dkad

K - medical ← same
but CEX



G_alezfkg.hk-centevcustr.is
• NP . hard to solve Yin factor 2 of OPT

a Gorz Alg : 2- apx OPT
,

in metric ¥
-

1 .
Choose Center C

,
EX arbitrarily

Let Ga=lc , } ¢i={ G. G
,

" . G)

2 .
for i=R to K do

setci = a ;em×a×d(x ,¢⇐,KD heat

*¥¥Et÷h¥dx¥ database.*
;

ii.
 Iii assign 1=-3,2

Cz



LlogdlsAlg.fenk-meansDsEudidieanXc1Rdl.Choo_kcentersCcXlarbitrar@2.r

epeat Will

both

#
For all XEX

,
set x→c

. .=$cc×)= Iggy#
#

Costz b. For all EIGC
,

set Cit average {×←X|&ccxs=§decreases =si\
until

"cojoyenrosiedfoasgrom⇐k÷l¥esi× "

state⇐Y¥¥¥¥¥¥¥ge¥inH⇐l*±÷
: I :

'

. ÷÷



÷oiiO@G



Choosing dense

. Modeling chance

" " I .e:*
.at#eeiHiKIOHiIiiIi

,

tel K*



Cc ( a C 7

i.
! •

Eii÷
µ mgninm

¥↳s=if happens
↳*⇐f¥÷
rest .



How#oselnitdnt?
. K - Center ( Gonzales )

cjotipt§

•
Choose #losb) centers

. /far
11

coupon collectors " i¥Ee
↳ then duster 1 mil

i¥iY
then merge .

lmil

. b- Means tt



k.mn#Atg_th''D?sayoI

\ . Choosing 4EX arbitrarily
¢i={ ci

,
G

,
. . . Li }

Z . for is 2 to K

Choose CIEX al probability proportional

use = DG , a (A) 2

at&xw×

youth
,p×=TwI To .u


